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Warm up Grade 6
Date:

1) If Homer has 20 donuts and 30 cookies. He wants to place all of
them in baskets so that each basket has the same number of donuts
and cookies. What is the greatest number of baskets Homer can

make? ?51;\)\3‘5 C;(: s (O basters
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T he STGQ.\"-S # of baskers Nomer can Make is 19,

2) Write in standard form:

a. four hundred four billion two hundred thirty-one milllcpfive
thousand ten "

oy 28) ©0 05 <o LS

ATt
3) Write the PRIME factors of 30 (Show work )

Primet> 213,57 1,13,17,23, 29,3k
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?\"\me factors of 30 are 2, 35,9



Day 15 Gr 6 Math Ch 2 Lesson 7 Order of Operations OKeefe.notebook September 28, 2018
Jw §

=z, Homework Solutions

#6ab.cd RS
wap  #12ai)ii HISS KROWTT ALL
#9

) 5. Draw a factor tree to find the factors of ezch number

that are prime.
a) 64
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6. Use division to find the factors of each number
that are prime.
a) 18 b) }5\ t]}ﬁ\ d) 50
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8. Copy and complete each factor tree in as ou can
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5. Patan uses a bead loom to make a bracelet
She wants to use ll 8 beads,and to put the beads
in rows o equa e
Patan also wants the number of beads in each row
1o beafactor o 84 thatis a prime number
How many beads could PATATTTEIENER row?
Give as many answiers as you can.
Explain how you found the numbers,
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0. Julia and Sandhu bought packages of granola bars. Q
Each package has the same number of bars.
a) Julia and Sandhu each had a total of 12 bars.
How many bars could there be in one package?
b) Suppose Julia had 24 bars and Sandhu had 18 bars.
How many bars could there be in one package?
Draw a picture to show your thinking
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12. a) Draw 2 different factor trees for each number.
i) 56 i) 32 i) 90 ) 75

b) Why s it posshble to draw 2 different factor trees for each number in part &?

o Name 2 composite numbers for which you can draw only one factor tree.
Explain why this is so.

d) How many factor trees can you draw for the number 672 Explain.
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N9 Explain and apply the order of
operati i

k’ ’ Order of Onerations cperatons, excluing exponeris wih
q whole numbers).
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Definition:

Expression: is a math statement with numbers and operations
(no equal sign) 6 +3

= 8 .
BUT we can evaluate an expression to find an answer

Don't copy just listen
Which operation would you complete first?

10+8x3-5=7
Find answers in as many ways you can.

9
N
There is only one correct answer. It isﬁ o+ 19
What strategy gives you this? N\
o4 2% =5

Let's try 3 different ways A
10+8x3-5=24Y4( 10+8x3-5=749 10+8x3-5=7?
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Often to win contest, a person must answer a sKill testing questlon
¥ The skill testing question is most likely an order of operatlon 2

question. e )

The purpose of the arder of operations is to ensure that

the same answer is reached regardless of who performs
the calculations
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* Do the operations in brackets (we use brackets
first if we want certain operations carried out first)
* Multiply and divide, in order from left to right

* Then add and subtract, in order, from left to right.

acronym
‘K “S\ k Brackets
v\ &\ X{ponents (grade 8)
530\ Division -
Do what comes first in the
}expression

;k / Multiplication

Add|t|on Do what comes first in the
Subtraction expression
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1

PRIZE CLAIM FORM Il - FOR CANADIAN RESIDENT PRIZE CLAIMANTS .
+ +4 -
OF FOOD PRIZES, $100 TIM CARD 1 1 2 X 1 O 4 7

Please complete the following skill-testing question (print clearly):

||+ 210 +4 -1

= 1Y g ¥4
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ANSWER:
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